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asym_bcm_an_ds (ppb) 1D pull distribution
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asym_bcm_an_ds3 (ppb) 1D pull distribution
X2 I ndf 9.857 / 24
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asym_bcm_dg_ds (ppb) 1D pull distribution

B X2 /' ndf 8.112/24 M 0.05518 + 0.1134
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diff_bpmE (nm) 1D pull distribution

- X2 / ndf 36 / 24 M -0.108 + 0.239
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diff_bpm4aX (nm) 1D pull distribution
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diff_bpm4eX (nm) 1D pull distribution

X2 7 ndf 34.35/ 24
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diff_bpm4aY (nm) 1D pull distribution

X2 / ndf 26.83 /24 M 0.1214 + 0.2057
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diff_bpm4eY (nm) 1D pull distribution
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diff_bpm11X (nm) 1D pull distribution

- X2 / naf 20.68 /22 Mean -0.03479 £ 0.1976
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diff_bpm12X (nm) 1D pull distribution

- X2 / ndf 34.92 /24
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asym_usl (ppb) 1D pull distribution
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asym_usr (ppb) 1D pull distribution
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asym_us_avg (ppb) 1D pull distribution
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asym_us_dd (ppb) 1D pull distribution
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asym_dsl (ppb) 1D pull distribution
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asym_dsr (ppb)
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asym_ds_avg (ppb) 1D pull distribution
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asym_ds_dd (ppb) 1D pull distribution
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